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QUESTION 1

An entity type is a template for its entity occurrences. Which of the following is a template for objects?
A. A class.

B. A use case.

C. An operation

D. An actor.

Correct Answer: A

QUESTION 2

The entity relationship model below shows the relationship between Customer and Order. Which of the following
business rules is correct?

Cugtomarn

Circher

A. An order may be placed by many customers.
B. A customer may place many orders.

C. A customer may never place an order.

D. An order need not be placed by a customer.

Correct Answer: B

QUESTION 3

Which of the following is NOT one of the perspectives considered by the \\'Balanced Business Scorecard\\'?
A. Competition.

B. Customer.

C. Learning and Growth.
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D. Financial.

Correct Answer: A

QUESTION 4

When analysing stakeholders, it is useful to produce a stakeholder analysis grid. What is depicted on the axes of this
grid?

A. Objectives and interests.
B. Power and influence.

C. Perspectives and impacts.
D. Power and interest.

Correct Answer: D

QUESTION 5

Cars, trucks and motorbikes are all types of vehicle. What structure could be used on a class model to model this?
A. Generalisation

B. Association class

C. Exclusivity relationship

D. The construct

Correct Answer: A
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